
Puissances de Dix (H)

36 ÷ 1 = 46 ÷ 1 =
36 ÷ 10 = 46 ÷ 10 =
36 ÷ 100 = 46 ÷ 100 =
36 ÷ = 46 ÷ =
36 ÷ = 46 ÷ =

45 ÷ 1 = 62 ÷ 1 =
45 ÷ 10 = 62 ÷ 10 =
45 ÷ 100 = 62 ÷ 100 =
45 ÷ = 62 ÷ =
45 ÷ = 62 ÷ =

37 ÷ 1 = 83 ÷ 1 =
37 ÷ 10 = 83 ÷ 10 =
37 ÷ 100 = 83 ÷ 100 =
37 ÷ = 83 ÷ =
37 ÷ = 83 ÷ =

85 ÷ 1 = 17 ÷ 1 =
85 ÷ 10 = 17 ÷ 10 =
85 ÷ 100 = 17 ÷ 100 =
85 ÷ = 17 ÷ =
85 ÷ = 17 ÷ =

76 ÷ 1 = ÷ 1 =
76 ÷ 10 = ÷ 10 =
76 ÷ 100 = ÷ 100 =
76 ÷ = ÷ =
76 ÷ = ÷ =
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Puissances de Dix (H) Solutions

36 ÷ 1 = 36 46 ÷ 1 = 46
36 ÷ 10 = 3,6 46 ÷ 10 = 4,6
36 ÷ 100 = 0,36 46 ÷ 100 = 0,46
36 ÷ = 0,036 46 ÷ = 0,046
36 ÷ = 0,0036 46 ÷ = 0,0046

45 ÷ 1 = 45 62 ÷ 1 = 62
45 ÷ 10 = 4,5 62 ÷ 10 = 6,2
45 ÷ 100 = 0,45 62 ÷ 100 = 0,62
45 ÷ = 0,045 62 ÷ = 0,062
45 ÷ = 0,0045 62 ÷ = 0,0062

37 ÷ 1 = 37 83 ÷ 1 = 83
37 ÷ 10 = 3,7 83 ÷ 10 = 8,3
37 ÷ 100 = 0,37 83 ÷ 100 = 0,83
37 ÷ = 0,037 83 ÷ = 0,083
37 ÷ = 0,0037 83 ÷ = 0,0083

85 ÷ 1 = 85 17 ÷ 1 = 17
85 ÷ 10 = 8,5 17 ÷ 10 = 1,7
85 ÷ 100 = 0,85 17 ÷ 100 = 0,17
85 ÷ = 0,085 17 ÷ = 0,017
85 ÷ = 0,0085 17 ÷ = 0,0017

76 ÷ 1 = 76 ÷ 1 =
76 ÷ 10 = 7,6 ÷ 10 = 365
76 ÷ 100 = 0,76 ÷ 100 = 36,5
76 ÷ = 0,076 ÷ = 3,65
76 ÷ = 0,0076 ÷ = 0,365
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